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Rapid Spanning Tree Protocol was created to help to overcome the slow convergence 
time of 802.1D Spanning Tree. Which statement about Rapid Spanning Tree Protocol is 
false? 

A. It changes path costs. 
B. It uses designated forwarding ports. 
C. It decreases the number of port states. 
D. It does not block ports like Spanning Tree Protocol does. 

Answer: D 

QUESTION: 57
 
Click on the exhibit button.
 

The Ethernet Switch has three port-based VLANs. Ports 1-3 are in VLAN 1. Ports 4-6 are 
in VLAN 2. Ports 7-10 are in VLAN 3. PC A sends a broadcast packet. Which PCs will 
see the broadcast? 

A. Port 3 on PC B 
B. Ports 5, 6 on PC C 
C. Port 8 on PC D 
D. Ports 9, 10 on PC E 

Answer: A 

QUESTION: 58
 
Some Nortel Ethernet Switches and Ethernet Routing Switches use an alternate frame
 
processing method that allows you to configure four different Ethernet egress options.
 
One of these options is Untag PVID only. Which statement best describes this option?
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A. All frames that exit the port will be tagged. 
B. All frames that exit the port will be untagged. 
C. All frames that are on the same VLAN as the egress port VLAN ID will be tagged, 
and all others will be untagged. 
D. All frames that are on the same VLAN as the egress port VLAN ID will be untagged, 
and all others will be tagged. 

Answer: D 

QUESTION: 59 
With respect to the function of the IEEE 802.1s Multiple Spanning Tree Protocol 

(MSTP), which statement is false? 

A. MSTP creates a separate spanning tree group for each VLAN. 
B. Each VLAN runs the Spanning Tree algorithm only within the VLAN. 
C. The MSTI messages allow each spanning tree group to support multiple VLANs. 
D. The default spanning tree group in MSTP is called the Common and Internal Spanning 
Tree (CIST). 

Answer: B 

QUESTION: 60 
Occasionally, a switch will receive frames faster than it can process them. The buffers on 
the switch become congested, and the switch begins to discard incoming frames because 
it has no place to store them. If 802.3x flow control is supported, what is the resultant 
behavior in a congestion situation? 

A. Switches become overloaded. 
B. Switch buffer congestion results. 
C. The receiving switches send pause frames to slow incoming traffic. 
D. The receiving switches discard frames until the overloaded condition is resolved. 

Answer: B 

QUESTION: 61 
An Ethernet switch connects to the core switch with two fiber ports in a link aggregation 
group created through LACP. One of the fiber connections was damaged, and the 
network administrator wants to create a link aggregation group with the remaining fiber 

19



link and two of the copper ports. Which constraint on the link aggregation group must the 
administrator be aware of? 

A. Links in a link aggregation group may combine multiple speeds and media types. 
B. Links in a link aggregation group must operate at the same speed and use the same 
media type. 
C. Links in a link aggregation group must use the same speed, but can combine multiple 
media types. 
D. Links in a link aggregation group must use the same media type, but can combine 
multiple speeds. 

Answer: B 

QUESTION: 62
 
Click on the exhibit button.
 

PC1 sends a packet to Srv2. The destination address for the frame is 00-00-0c-06-41-7c. 
If the address was not in the forwarding database of switch 2, how would the switch 2 
treat the packet? 

A. Switch 2 would arp to find Srv2. 
B. Switch 2 would drop the packet. 
C. Switch 2 would flood the packet out all ports. 
D. Switch 2 would forward the packet out T1, because that is its default route. 

Answer: C 

QUESTION: 63
 
Click on the exhibit button.
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Four PCs are connected to a switch. PC A needs to communicate with PC D. Which 
statement is false? 

A. If PC D sends a unicast packet to PC A, PC B and PC C will not see traffic. 
B. If PC A sends a unicast packet to PC D, PC B and PC C will see traffic. 
C. If PC A issues an ARP to discover the MAC address of PC D, PC B and PC C will see 
traffic. 
D. f PC A sends a unicast packet to PC D, PC B and PC C will not see traffic. 

Answer: B 
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